Math 105 Midterm 1 Flormula Sheet

e Trigonometric Formulas:

sin®(z) + cos®(z) =1 tan®(z) + 1 = sec?(x)
sin(2z) = 2sin(x) cos(x) cos(2z) = cos?(z) — sin?(x)
sin?(z) = % - %cos(Zx) cos®(z) = % + %COS(QQ?)

sin(x 4+ y) = sin(z) cos(y) + sin(y) cos(z) cos(x + y) = cos(z) cos(y) — sin(z) sin(y)

e Values of Trigonometric Functions:

R EEEEE;
sin(z) | 0 \/TI ? \/73 1
cos(x) | 1 ‘/73 \/75 § 0

e Derivatives of Inverse Trigonometric Functions:

Notation: sin™'(z) = arcsin(z) tan"!(x) = arctan(z) sec”(z) = arcsec(z)
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e Numerical Integration:

Midpoint Rule for [ f(z)dz, with Az = =2 2; = a + kA
. T—1 + Tk
M(n) = TRl TR Az
=37 (2 ) aa

Trapezoid Rule for f:f(x)dx, with Az = I”T“, rp = a+ kAz:

n—1

T(n) = <1f<xo> FY rw) + %f(%)) Ar



